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> summary( Model2 <- meta3X(y=y, v=v, intercept.constraint=0, x2=cbind (Adv,

+ cluster=studyID, data=sA2, model.name="Model 2") )
Error in running the mxModel:

Int, Base, Mix),

<simpleError: The job for model 'Model 2' exited abnormally with the error message: fit is not finite (The continuous part of the model implied covariance (loc2) is not positive definite
covariance = matrix(c( # 15x15
2.987, 0.01, -3.03915e-018, 0.01, 0.02, 1.92, -4.51045e-019, -4.43845e-019, 3.2272e-019, -9.0209e-019, 1.92, -4.51045e-019, -4.43845e-019, 3.2272e-019, -9.0209e-019
, 0.01, 0.2, -0.12, -0.03, 0.05, -4.51045e-019, 0.16, -0.09, -0.02, -0.05, -4.51045e-019, 0.1, -0.09, -0.02, -0.05
, -3.03915e-018, -0.12, 0.29, -0.06, -0.11, -4.43845e-019, -0.09, 0.21, -0.04, -0.08, -4.43845e-019, -0.09, 0.21, -0.04, -0.08
, 0.01, -0.03, -0.06, 0.11, 0.08, 3.2272e-019, -0.02, -0.04, 0.08, -0.02, 3.2272e-019, -0.02, -0.04, 0.08, -0.02
, 0.02, 0.05, -0.11, 0.08, 0.18, -9.0209e-019, -0.05, -0.08, -0.02, 0.15, -9.0209e-019, -0.05, -0.08, -0.02, 0.15
, 1.92, -4.51045e-019, -4.43845e-019, 3.2272e-019, -9.0209e-019, 3.018, 0.01, -3.03915e-018, 0.01, 0.02, 1.92, -4.51045e-019, -4.43845e-019, 3.2272e-019, -9.0209e-019
, -4.51045e-019, 0.1, -0.09, -0.02, -0.05, 0.01, 0.2, -0.12, -0.03, 0.05, -4.51045e-019, 0.1, -0.09, -0.02, -0.05
, -4.43845e-019, -0.09, 0.21, -0.04, -0.08, -3.03915e-018, -0.12, 0.29, -0.06, -0.11, -4.43845e-019, -0.09, 0.21, -0.04, -0.08
, 3.2272e-019, -0.02, -0.04, 0.08, -0.02, 0.01, -0.03, -0.06, 0.11, 0.08, 3.2272e-019, -0.02, -0.04, 0.08, -0.02
, -9.0209e-019, -0.05, -0.08, -0.02, 0.15, 0.02, 0.05, -0.11, 0.08, 0.18, -9.0209e-019, -0.05, -0.08, -0.02, 0.15
, 1.92, -4.51045e-019, -4.43845e-019, 3.2272e-019, -9.0209e-019, 1.92, -4.51045e-019, -4.43845e-019, 3.2272e-019, -9.0209e-019, 3.108, 0.01, -3.03915e-018, 0.01, 0.02
, -4.51045e-019, 0.1, -0.09, -0.02, -0.05, -4.51045e-019, 0.1€, -0.09, -0.02, -0.05, 0.01, 0.2, -0.12, -0.03, 0.05
, -4.43845e-019, -0.09, 0.21, -0.04, -0.08, -4.43845e-019, -0.09, 0.21, -0.04, -0.08, -3.03915e-018, -0.12, 0.29, -0.06, -0.11
. 3.2272e-019, -0.02, -0.04, 0.08, -0.02, 3.2272e-019, -0.02, -0.04, 0.08, -0.02, 0.01, -0.03, -0.06, 0.11, 0.08
, -9.0209e-019, -0.05, -0.08, -0.02, 0.15, -9.0209e-019, -0.05, -0.08, -0.02, 0.15, 0.02, 0.05, -0.11, 0.08, 0.18), byrow=TRUE, nrow=15, ncol=15
)>
Length Class Mode
message 1 -none- character
call o -none- NULL
Warning message:
The job for model 'Model 2' exited abnormally with the error message: fit is not finite (The continuous part of the model implied covariance (loc2) is not positive definite in data 'Model
covariance = matrix(c( # 15x15
2.987, 0.01, -3.03915e-018, 0.01, 0.02, 1.92, -4.51045e-019, -4.43845e-019, 3.2272e-019, -9.0209e-019, 1.92, -4.51045e-019, -4.43845e-019, 3.2272e-019, -9.0209e-019
, 0.01, 0.2, -0.12, -0.03, 0.05, -4.51045e-019, 0.16, -0.09, -0.02, -0.05, -4.51045e-019, 0.1, -0.09, -0.02, -0.05
, -3.03915e-018, -0.12, 0.29, -0.06, -0.11, -4.43845e-019, -0.09, 0.21, -0.04, -0.08, -4.43845e-019, -0.09, 0.21, -0.04, -0.08
, 0.01, -0.03, -0.06, 0.11, 0.08, 3.2272e-01%, -0.02, -0.04, 0.08, -0.02, 3.2272e-01%, -0.02, -0.04, 0.08, -0.02
, 0.02, 0.05, -0.11, 0.08, 0.18, -9.0209e-019, -0.05, -0.08, -0.02, 0.15, -9.0209e-019, -0.05, -0.08, -0.02, 0.15
1.92, -4.51045e-019, -4.43845e-019, 3.2272e-019, -9.0209e-019, 3.018, 0.01, -3.03915e-018, 0.01, 0.02, 1.92, -4.510 [... truncated
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